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(1) —RBLTEXEE

O&HLEL
. W | mag AR [FLIT5EE BERE WOV
A % w2 | BB | =8 [REE | 50% | BRE | B B | GLT | 508 | KE | 502 | & & | ke | 5B= | 3k
BB | Xidhwi O
(£) (m) (BkY) (£) (BkY) (£) (F&b) (8) (BkY) (£) (BkY) (£) (8)
= M 6 500 15| 36(24) — — ] I 12| 28(19) ped — — —
Z |k & 6 500 15| 36(24) — — - - 12| 31(21) el 8 7 1
BRE 6 500 15| 36(24) — — - = 12| 31(21)| 3% 8 7 1
F # 6 500 15| 42(28) 5 1 1,000 % 12| 31(21)| % — — —
X H 4 330 10| 25(17) — — - — 10l 25(17)| % 8 7 1
& I 4 330 10| 28(19) — — - = 10[ 27(18)| % 8 7 1
= A 4 330 10| 28(19) — — - = 10[ 27(18)| % 8 7 1
1 X 7 4 330 10{ 24(16) — — — — 10| 22(15)| % — — —
/NErH 2 250 8| 22(15) — — - - 8l 21(14)| — — —
AEH 2 250 8| 22(15) — — - — 8| 21(14)| — — —
FhE 2 250 8l 16(11) — — - — 8l 16(11)| X — — —
_ | fEEE 2 250 8| 22(15) — — - — 8l 21(14)| 8 7 1
w |  |E 2| 250 8| 18(12) — — - — 8l 16(11)| % 8 7 1
5 2 250 8| 22(15) — — - — 8l 21(14)| — — —
iR 2 250 8| 19(13) — — - — 8l 21(14)| 8 7 1
B # 2 250 8| 22(15) — — - — 8l 21(14)| — — —
=NRi 2 250 8l 16(11) — — - — 8| 15(10)| % — — —
IR 2 250 8l 16(11) — — - — 8l 16(11)| % — — —
EAR 2 250 8| 22(15) — — - — 8l 21(14)| — — —
% # 2 250 8| 22(15) — — - — 8l 21(14)| — — —
AN 2 250 8l 21(14) 25 1 5000 8l 21(14)| — — —
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. B E | Kk @ MAEE LVEEE
E % s | BB | BBAS | IKE | 2@E | BUkE | 2@E | sim
(%) (m) | F\r | @) | B | (&) (%)
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- K & 3 4,500 10 10 10
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@DFDMEHE
W i | maig AR [FLIF5E BERE WOV
BIE| s | BE |25 [hkE| 502 | kE | B B | GUT | 3k | kE | 50E | & & | BEE | 55% | 3%
% | 1 B B | UL W
(44) (m) (BkY) € (BkY) () (k) (%) (BkY) (4) (BkY) (4) (%)
= ih 4 330 10| 24(16) — — — — 7119(13) X — — —
Z | Kk & 4 330 10| 24(16) — — — — 7119(13) X — — —

BRS 4 330 10| 24(16) — — — — 7119(18)| % — — —
F H 4 330 10| 27(18) — — — — 7118(12)| % — — —
X H 3 330 7] 15(10) — — — — 71 15(10)| % 8 7 1
k & 3 330 71 18(12) — — — — 711611 X% — — —
= A 3 330 71 19(13) — — — — 7118(12)| X — — —
X 7 3 330 7] 15(10) — — — — 7] 13(9)| X — — —

R "
/NErH 2 250 6| 15(10) — — — — 6] 15(10)| % — — —
KEH 2 250 6 15(10) — — — — 6l 15(10)| % — — —
FHE 2 250 6]  7(5 — — — — 6]  9(8)] X — — —

_ | fEEE 2 250 6 13(9) — — — — 6| 13(9)] — — —

wo| o LfE B 2| 250 6| 10(7) — — — — 6| 96| x — — —
L 2 250 6| 13(9) — — — — 6 13(9)] X — — —
i 2 250 6| 13(9) — — — — 6 13(9)] X — — —
B Z 2 250 6 15(10) — — — — 6l 16(11)| X — — —
B A 2 250 6| 12(8) — — — — 6 10| X — — —
A 2 250 6| 12(8) — — — — 6 10| X — — —
EAR 2 250 6l 16(11) — — — — 6l 16(11)| X — — —
& B 2 250 6 15(10) — — — — 6l 15(10)| % — — —
ANRL 2 250 6] 10(7) — 6l 15(10)| % — — —
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EILAND AEIBEWATR IR E ElfTE
B2 wa [DRE | 9BE | AR | kE | 50E | AR | REE | 3BE | 7 &
4| 18 e e W
(BkY) € (BkY) € (BkY) €)
= s 11| 57(38)| % 9l X X 9l 40(27)| X
Z | kK & 10| 52(35) X 6] X el 6] 31(21) X
BRS 10| 51(34)| % 6] X X 6l 3121 X
F 8 11] 66(44)| % 6] X X 6] 34(23)| X
X H 10 51(34)| % 6] X X 6] 33(22)| X
& & 10| 55(37)| % 6] X X 6] 34(23)| X
= A 10| 55(37)| 3% 6] X X 6] 34(23)| X
X » 10] 46(31)| % 6] X X 6 30(20)| X
n -
/NErH 8| 46(31)| X 6] X X 6] 34(23)| X
REH 8l 46(31)| X 6 X X 6| 34(23)| X
FHE 6l 27(18)| X 6] X X 6l 27(18)| X
_ | fEitfR 10| 55(37)| X% 6| X X 6| 34(23)| X
Wl LfE 8 6| 27(18)| 6 x R 6| 27(18)|
5 8l 46(31)| X 6 X X 6| 34(23)| X
iR 6 81(21)| X 6 X X 6 831(21)| X
B = 10| 58(39)| % 6] X X 6] 34(23)| X
B A 10| 40(27)| % 6] X X 6l 27(18)| X
B OH 10| 42(28)| % 6] X X 6l 27(18)| X
EAR 10| 58(39)| % 6] X X 6] 34(23)| X
& B 6| 34(23)| X 6 X X 6| 34(23)| X
ANRL 8l 45(30)| X 6 X X 6] 33(22)] X
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EHL EHE
Bl E| s [WEE| B B |FLTXE 5K | RkE | B 5 [ZLTXE] 5im
| B BB | M BB | M
(Bh) | () | GEh>) | (B) | (Bh) | (&) | (BEby) | (B)
= 25 1 500 % 25 1 500l  #
— | K & 25 1 500 * 25 1 500 ¥
BERE 25 1 500 % 25 1 500 %
F A 25 1 500 % 25 1 500 %
X H 25 1 500 % 25 1 500 %
k& 25 1 500 % 25 1 500 %
= A 25 1 500 % 25 1 500 %
X & 25 1 500 * 25 1 500 *
n /NEFH 25 1 500 % 25 1 500l  #
KEH 25 1 500/ % 25 1 500/ %
FRE 25 1 500/ % 25 1 500 %
_ | fEitfR 25 1 500 % 25 1 500 %
wo| o LfE B 25 1 s00| % 25 1 s00| %
5 25 1 500  # 2.5 1 500  #
s = 25 1 500/ % 25 1 500 %
E # 25 1 500 % 25 1 500 %
= 25 1 500/ % 25 1 500/ %
LR 25 1 500/ % 25 1 500/ %
AR 25 1 500 % 25 1 500 %
% # 25 1 500 % 25 1 500 %
AL 25 1 500 % 25 1 500 %
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(5) RS9 F AEFESOSMAIEIEDREICLDEHEToI-HE

IR S BEREREE

Bl | an FHBL FlfrE FHBL FlfrE

& | & e BRik=E | #EE | BkE | FEE | BUkE | FEE g % BikE | FEE g %
(BkY) (£) (BkY) (£) (BkY) (£) (BkY) (£)

= i 15| 36(24) 12| 28(19) 10| 24(16)| 3% 5| 12(8)| X
Z |k & 10| 25(17) 81 19(13) 10| 27(18) ped 5 13(9) ped
BRS 10| 24(16) 8] 19(13) 10] 27(18)| % 51 13(9)] X
F H 15| 42(28) 8| 22(15) 10] 27(18)| 51 13(9)] X
X H 10] 25(17) 8l 21(14) 10 25(17)| 3% 5/ 13(9)] X
K g 10| 28(19) 8| 22(15) 10] 27(18)| % 51 13(9)] X
= A 10| 28(19) 8| 22(15) 10] 27(18)| 51 13(9)] X
1 X 7 10| 24(16) 8l 19(13) 10] 22(15)| % 5/ 12(8)] X
/NErHE 8| 22(15) 8| 22(15) 10 27(18)| % 5/ 13(9)] X
AEH 8| 22(15) 8| 22(15) 10| 27(18)| 3% 5| 13(9)| X
FrE 8l 16(11) 8l 16(11) 51 107 X 51 107 X
_ | fEitfR 10| 28(19) 8| 22(15) 10| 27(18)| X% 5 13(9)| X
wo| o LfE 8 8| 18(12) 8| 18(12) 5| 10| % 5| 10| %
5 8| 22(15) 8| 22(15) 10| 27(18)| 3% 5| 13(9)| X
moE 8| 19(13) 8| 19(13) 5| 13(9)| X 5| 13(9)| X
B Z 10 31(21) 8| 22(15) 10] 27(18)| % 51 13(9)] X
B A 10| 21(14) 8l 16(11) 10 19(13)| % 51 107 X
A 10| 21(14) 8l 16(11) 10] 21(14)| 51 107 X
EAR 10 31(21) 8| 22(15) 10] 27(18)| 51 13(9)] X
% # 8| 22(15) 8| 22(15) 5| 13(9)| X 5| 13(9)| X
AN 8l 21(14) 8l 21(14) 10 27(18)| % 5/ 13(9)] X
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